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P e SR
F E 5 B O#E 5 B gl Rk
L SFI054£10H19H ek ¢ 122 b (Biir)
ih A PE Hi wmH | Wkoe | A E=E e il e g1
N AbifEE 10. 00| AHxf 1, 130 11,300 2,916 2,233| 1,620
R (S 5. 00| fHx} 41 205| 3,456| 2,318 1, 080
H ¥ £ ¥ 15. 00| fHxf 2,996 44,940 2,592| 1,975| 1,404
X H D BB 10. 00| FH%f 400 4, 000 1,296 1,150 918
1T NAEL 5 B 4. 00| FHx*} 15 60 4, 104
H % =Y 3. 00| fHx} 131 393| 3,240 2,767 2,052
H A [ 1. 00| B} 195 195 1,620 1,077 432
& I | so00| kx| 5] 95| 5,400 4,104 2,700
AN w5 5. 00| FH*} 43 215| 1,728 1,532 1,188
LE L =g 4. 00| FH*} 224 896| 7,020 5,283| 4,104
[ I\ = 5. 00| FH*} 445 2,225  2,916| 2,529 1,728
N7 k= R AbifEE 3. 00| FH*} 136 408 3,996| 3,736| 3,132
= g | 0.20| #A%E| 5 3| 216| 25| 205
H 7% (i 5. 00| FAXf 90 450|  1,944| 1,837| 1,404
B F =g 10. 00| AHxf 253 2,530 3,564 2,313] 2,160
£ A AbifEE 20. 00 | FH 5%} 65 1,300 3,078| 2,904| 2,700
& | 10,00 AExF|  423] 4,230 2,160 1,624 918
LA A £ ¥ 10. 00| FAXF 645 6,450 4,860 3,114 1, 404
=1L k¥ 4. 00| FH*} 182 728| 2,808| 2,234 1,728
AEHEE w5 0. 10| FHxf 1, 250 125 184 114 54
ZDXH E ¥ 0. 20| FHx} 1, 200 240 78 67 53
LU B g 0. 20| FHx} 300 60 92
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P e SR
F 2 o4 B O#E 58 H 5l Rk
R3HE AF054E10H 19 H 5| v (g 40 hv (Blir)
ih A PE Hi wmH | Wkoe | Ak Sy e il e g1

iR LA EE A Ak L 10. 00| AHxf 1, 294 12,940 4,860| 2,427| 1,080

A% fE FOsk L 7. 50| fHxt 25 188 2, 754

LIPS L JE 0. 60| FHxf 66 40 389 376 356

P b 10. 00| AHxf 105 1,050 12,960| 10,347| 7,560

Avava 74 U ¥ | 13.00| fHxf 63 819 3,292| 3,211 2,916




